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A = AH & A
(2020. 3. 126 2021. 2. 287}Xl)
1. = &
CESRE-))
& = 0ff &b o 2 4o S2(A)H [l
2t g =
5200 MY LIIE+¢ 165,001,000 163,300,000 21,701,000
5210 Hg==+¢ 40,000,000 39,000,000 21,000,000
5214 F5EENLY S 0 0
5215 SEEIAHHL= 0 0
5217 =AMBH L= 40,000,000 39,000,000 21,000,000
5220 JIR=+¥ 125,001,000 124,300,000 A701,000
5221 4EV|I2E3 1,000 0 A 1,000
5222 XNEI|F= 125,000,000 124,300,000 A700,000
5223 AJI123 0 0
5230 =EX=+Y 0 0 0
5231 WEUSI=RXNE S 0 0
5232 JIEt=1UXE = 0 0
5233 XXM XIS 0 0
5400 W2+ 102,202,000 108,695,903 6,493,903
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5431 g =+¢ 1,000 0 A 1,000
5432 g3 +< 0 0
5433 & - sdtEsY 0 0
5439 J|Et==2TH &t 1,000 0 A 1,000
1200 SX2AI|EFAF &=L 43,110,000 0 243,110,000
1220 S RHAHAE=E 0 0 0
1221 EXNRIISH2 0
1223 X323+ 0
1229 JIEFSE R A& 0
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1250 ¥ 32EEI|I=E+L 0 0 0
1252 AZEEHFAIISUE 0
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2200 DEEMY=S 2,000 0 22,000
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4211 AES 22| 1,000 1,000 0 1,000
4212 FHl2ly) 1,000 1,000 0 1,000
4213 Z=F2ely| 1,000 1,000 0 1,000
4215 A&l 1,000 1,000 0 1,000
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